ol BaldRjeNNE
20333

-~

200




STANDARD X URDU

w:c jh-:k:.

Weightage to Discourses

Sae 8 elimld | U

20 10 4 (H

16 8 4 )éf

20 10 4 =6
8 4 1 e
12 6 2 s L3
6 4 1 {}7
10 4 1 uu:l/_ng
8 4 1 ]

100 | 50 18 gf

Weightage to Form of Questions

< Ul }’h&k{.
dM& O =l | ety f
5 3 3 4
20 10 5 $2
74 37 10 dei
100 50 18 S

201




(0s)81 j

\5 (e)e (ot)s (2€)oL
8 Tt )1 o1
L 97V 10 W) (V)1
9 HG,\ 7 ()1 ()1
S AT @n () (9)z
¥ A~ 7)1 (1
€ Sk ] @ (2)e oy
Z \m« (@) @ (P (8)y
) a\ OF ©)z G
7|7 & |7 % (7

9 S~ INNMddNTd

202



el F JLa

..tﬁ):ﬂdﬂ/;‘/?o/f;uijf'vfwﬁu(u%mﬂu) L o
WIS Il
-JL/’P..{C}")"%M, °

I e S iy e

e porE e Sy e
S R e P les s, e

Y VP2 I ¢ P S
6>

ey AL e

IR ENE e ern § UE e

*

oy

oy AL e L e
WIBELS Nt e

L

oy AL F I BL A
B S i e

i
_J

203



bl Sy i e

7

e P 8 a3l EnS oo e
¢l

PGNP AT e

-

oy AL G Mz B

204




4 h

SAMPLE QUESTION PAPER 2006-07
STD X Marks : 50
URDU : Time : 1.5

2 i EE oS S LG,
‘Ui lize b1 by e Hole cal et 7T 2
4 (82 2 OV S S B S sl I it
ol
qo g
ol
o[
ol
| Lyl
3 -ngzziu)lml “&gjic,i_‘aéfd;&uigé 3
A AL A (Bt L6 ot o
S il e SHSsid Lipnfidz 2
uu.‘i&ﬂigu{@p%&;l/m,_ﬁl?lgu..’/';»wd,cu-yﬁ/
Fle ASTMTS sl & B smlilgtilaty S o1
-ZTJ&LJI
Pl L3
ud Leliskd

205



2 -ff%u—;%ﬁwfu"@r”;ﬁ%ut»ﬂ
3 e bt S sl Ei L s
© @ e =N
il e x> (=) :
4,@:,,@.»
Fop faie (U
& s LA
g F B 6o
UG
: Sy gt ML S Il
o (L2 2T L Lo i s iz g
............ Bulersul o
............. VT AL skl o
VS SUF S B2 o
Lo S GpFT e
P 6;«';.:/»0’( ebuy & &;JI/fl_u:/‘n'/fgf"{TJ Ko o
2 (20 N St AL F 2
2 U B0 vty ik ;%LJ,g

4 U N prpnd L s fe L

10

206



(L’c’: .:/»Jb;ﬁ :‘_dbLﬁdJU"G/dﬂd‘/.d/?"uﬁé‘;_"ﬁ! 11
-4%_.“0
U SE U L K S G 2B T 12
LSy L ey TS S TS S TE 1o
(2.2l FETI Sr6e Sy et St
-ébtnga?,i (x«‘”(/vlg‘ffﬂ eye A5 1
Il Sl
L
LA e &
eSS St
W f Loy B S Fe Yoty 15
-gwuﬁ::w&ﬁ[ et s esT S
LSy SUABKE ooy EUFIE T 16
WY NN
4J§m“c‘_wwﬂmxoﬁﬂﬁg&q&,ﬂ.ué,&wu” 17
(L2 )-Z i L T
?sz'_g/,‘@;;d};%éwwﬁg” 18

207




c.’/LZg[!“)-o‘//lg}élng/,LJU}l

SCORING KEY STANDARD X
& o‘/’lg:étgé.’/.é./m /"\

2 % PLEPES AL |
2x%=1 &)

4 1 Eror | 2
1 Jliertr
1 g
1 el

3 1 Erov | 3
1 Wlicr b
r i

4 1 Eror | a4
1 Ylier s
1 V4
1 e

2 1 Eror | s
1 -

3 1 Ervy | 6
1 Yy :(g/d'-:i“
1 Ry

/

208




07 osllo e s

1 Y Erov |7
iz &:G.P/Jo:;.

4 1 & oy 8
1 it
1 ¥4
1 el

2 Y Erov |9
Y Uit
) -
Ya el

2 Y liertr | 10
Y {vor
Yy =l

4 1 A7 | 11
1 s
1 Uit
1 el

1 Y Eror | 12
Ya Jlier b

209




07 oslo e s

4 1 Erovy | 13
1 Ylicr b
1 ¥4
1 e

3 1 Erov | 14
1 it
iz afcg/f
Y el

2 2 Eroy | 15
Y Yliertr
iz :«Jg/f.
Y el

4 1 Erov | 16
1 licr b
1 %;gylg
1 c«lg/uﬁq

4 1 Erov | 17
1 Wlicr s
1 < Ao/ 5
1 s

uf.’jul

18)

210




< Uy ,.34):?

Question paper Analysis

=y Y et | ods | A
4mts 2 el (w '
6 4 dei P
6 3 dei ek |
6 4 A Y
4 2 2 7o
6 3 dei /” 1
3 1 & B e
7 4 Je e | A
4 2 T e | 9
4 2 e S e
6 4 dei Bl o
3 1 & e | I
6 4 dei P
6 3 dei Al
4 2 o £
6 4 (}l;vl Gkl |1y
6 4 de LT P
3 1 & ST A
90 50 gf /

211




